Subject: Re: Loss of efficiency for electrons at theta~22”deg, due to association

failure in EMC

Posted by Ermias on Fri, 20 Feb 2015 23:04:30 GMT

View Forum Message <> Reply to Message

Hi Stefano,

Sorry, | made the wrong assumption about who's working on that part of the code. | didn't
mean to offend anyone and I should have known better to check...

For tracks that fail to get associated (emcindex<0 after the loop over emcHits), | printed out the
track MC index, its energy calculated from tracking using pion hypothesis together with the
module number and energy of the emcHit with the closest energy to the track.

| only printed out a few hundred events, but It seems like module 3 is contributing to all of the
unintended misses in the events | checked. Please let me know if | can provide any other

useful feedback...

ps: Do you advise against using oct.14 for any simulation that uses the EMC?

Cheers,
Ermias.
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pidCandMcindex=0 : trackEnergy=3.80585 Module=3 emcHitEnergy=3.40713
pidCandMcindex=0 : trackEnergy=3.73259 Module=3 emcHitEnergy= 3.56458
pidCandMcindex=0 : trackEnergy=0.898616 Module=3 emcHitEnergy= 0.949504
pidCandMcindex=0 : trackEnergy=1.25923 Module=3 emcHitEnergy= 0.920801
pidCandMcindex=0 : trackEnergy=0.463938 Module=3 emcHitEnergy= 0.0957954
pidCandMcindex=0 : trackEnergy=2.92428 Module=3 emcHitEnergy= 3.71379
pidCandMcindex=0 : trackEnergy=0.611837 Module=3 emcHitEnergy= 0.546316
pidCandMcindex=0 : trackEnergy=4.05194 Module=3 emcHitEnergy= 4.24035
pidCandMcindex=0 : trackEnergy=0.40836 Module=3 emcHitEnergy=0.320374
pidCandMcindex= 349 : trackEnergy= 0.262772 Module=3 emcHitEnergy= 0.130423
pidCandMcindex=0 : trackEnergy=4.78844 Module=3 emcHitEnergy= 4.82905
pidCandMcindex=0 : trackEnergy= 0.384974 Module=3 emcHitEnergy= 0.215389
pidCandMcindex=0 : trackEnergy=1.66274 Module=3 emcHitEnergy= 1.65131
pidCandMcindex=1 : trackEnergy=0.212189 Module=3 emcHitEnergy= 0.0214177
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